



YOUR BIG DAY,
MEANS A LOT TO US TOO



THE PERFECT SETTING

Our stylish, modern facilities lend an air of sophistication to this unique venue centrally located in the Independence Park, set against the breath-taking backdrop of the Mediterranean Sea. For your comfort our hotel offers a large secured underground and outdoor car park.

For an event that is anything but ordinary... celebrate with us. Our commitment to providing truly personal service means that we will be with you every step of the way and when the big day arrives, your dedicated event host will greet you and your guests to make sure that everything runs smoothly.



GRAND BALLROOM

Our Grand Ballroom can host up to 750 people for a seated dinner & dance, or be easily reduced to suit smaller parties and styles. With impressive high ceilings, large open spaces & fabulous acoustics, our Grand Ballroom is the perfect venue to create your dream scenario with limited boundaries. In fact, the hotel has the capacity to cater for events from 300 to 1,300 people depending on the scale of the event.

A stunning view of the Mediterranean can be enjoyed from our Ballroom Foyer and outdoor functions can be held at our stylish Grand Ballroom terrace.

TERRACES

For intimate receptions with a view, the hotel enjoys a spectacular outdoor terrace offering panoramic views of the Mediterranean Sea. An atmospheric space that can be designed to suit you and your event.

KING SOLOMON

Our King Solomon Hall is an exclusive venue to enjoy a relaxed indoor celebration with up to 200 guests. The hall offers panoramic views of the Mediterranean Sea, while also having the option to extend your party onto our beautiful adjoining balcony.

WITH FLAWLESS TRANSITIONS AND NATURAL MOVEMENT FROM ONE VENUE TO ANOTHER, WE OFFER ALL OUR VENUES FOR ONE SPECTACULAR EVENT.

STAY WITH US

Have your event last a little longer and enjoy all the luxury the Hilton Tel Aviv has to offer. Stay in one of our newly renovated rooms, special accommodations or suites.

WEDDING SPECIAL PACKAGE

The bride & groom will enjoy their wedding night in one of our beautiful suites; a wedding gift from us to the happy couple.

DELUXE ROOMS

Located on the 3rd - 10th floors, offering amazing sea views from private balconies, work areas and marble bathrooms with Ahava amenities. Share your wedding photos with all those at home with complimentary in-room WiFi. Start your day with our complimentary rich Israeli buffet breakfast served in the Café Med restaurant. Room size measures between 26m² - 32m².

SUITES

Spoil yourself with a stay in a contemporary suite with city and sea views, a private balcony and working area. Don't let anyone miss your special day, keep them updated with complimentary WiFi. All suites have separate seating areas, living rooms and some offer two bathrooms. Choose an Executive Suite or a Vista Club Suite and enjoy access to the 12th floor Executive Lounge or the 17th floor Vista Lounge, offering complimentary breakfast, cocktails, refreshments and snacks throughout the day, as well as a light supper.

EXECUTIVE ROOMS

Executive Rooms: Enjoy our spacious Executive Rooms, located on the 11th - 12th floors, and offering access to the 12th floor Executive Lounge with complimentary breakfast and refreshments. Enjoy your stay in these bright and airy rooms with sea views from the private balconies. Keep in touch with complimentary WiFi or watch a movie on the flat-screen TV.

Vista Club Rooms: A real pleasure is experienced in our contemporary Vista Club Rooms, located on the 13th - 16th floors, and offering sea views from the private balconies. Take advantage of access to the 17th floor Vista Lounge, offering panoramic views of the Mediterranean, and enjoy complimentary breakfast and refreshments. Ensure your friends know it's your special day with complimentary WiFi. Special touches include fluffy bathrobes.



EVENT SEQUENCE

WELCOME COCKTAIL

Greet your guests in our outdoor terrace or ballroom foyer and begin your celebration with our delicious appetizers. After an hour of welcome cocktail, our spectacular ballroom opens its doors to welcome your guests.

MEAL

Build your perfect menu; our chef, Rafik Jabarin, will share the pleasure of creating your ideal event menu. From appetizers, starters, main dishes, desserts and fresh fruits, enjoy tasting sessions with our team to ensure your taste is met. Upon your request we can arrange an elegant buffet or a stylish served meal.

WEDDING CEREMONY

Promise yourself to your partner in an unforgettable atmosphere. Surround yourself with your friends and family while the sunset behind you, creating the perfect backdrop to your wedding.

ALL OUR EVENTS ARE TAILOR MADE TO SUIT YOUR REQUESTS. WE WILL WORK WITH YOU IN ORDER TO ENSURE A UNIQUE EXPERIENCE FOR YOU AND YOUR GUESTS.

STARTING FROM \$95.00 + VAT PER PERSON



OUR CONTACT

We look forward to working with you and ensuring your special day is a memorable one. For any further information or to arrange a one-to-one meeting please contact us:

Conference & Events Team
banqueting@hilton.com
+972-3-5202244

OUR FLOORPLAN

YOUR DESIGN

	Total Sq. Ft.	Room Size	Ceiling Height	Dinner & Dance	Reception
King Solomon A	988	26.00' x 38.00'	9	50	50
King Solomon B	988	26.00' x 38.00'	9	50	50
King Solomon C	2,262	29.00' x 78.00'	9	140	200
King Solomon ABC	6,766	78.67' x 86.00'	9	270	320
	Total Sq. Ft.	Room Size	Ceiling Height	Dinner & Dance	Reception
Ballroom A	3,038	49.00' x 62.00'	23	200	300
Ballroom B	4,650	75.00' x 62.00'	23	350	450
Ballroom C	4,425	59.00' x 75.00'	15	300	450
Ballroom ABC	11,346	183.00' x 62.00'	23	750	1300

